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1. What was the alleged behavior that Marge engaged in?
2. Who noticed what she did?
3.  Explain how role strain may have led to the incident.
4. What is the difference between these two statements?
a. Police Chief – "Marge Simpson was arrested for shoplifting."
b. Mayor – "Marge Simpson is a shoplifter!"

5. In what ways was Marge stigmatized?
6.  What was the sanction, or consequence Mage received? 
7.  Explain if Marge engaged in primary or secondary deviance.
8. At one point, Bart is eating lunch with a friend on a bench outdoors.  Nelson, approaches and taunts Bart, calling Bart's mother a jailbird. Bart counters by saying "So is yours!" Nelson replies, "Oh yeah! Let's play."  According to the differential association theory, what may be the outcome of Bart's new friendship with Nelson?
9.   How did Marge’s absence affect the community?
10.  Explain how the community's actions in her absence support the interactionalist perspective of deviance.
11. Did Marge accept the deviant label? 
12. Explain if Marge's associations with Phillips, Tattoo Annie and others in prison support the concept of  differential association.
13.  Do you think Marge stole the bourbon? Why or why not?
14. According to labeling theory, does it matter whether she stole it or not? Explain.
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